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®3.58 As shown in Fig. P3.58, water from a large reservoir flows
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without viscous effects through a siphon of diameter D and into a
tank. It exits from a hole in the bottom of the tank as a stream of di-
ameter d. The surface of the reservoir remains H above the bottom
of the tank. For steady-state conditions, the water depth in the tank,

h, is constant. Plot a graph of the depth ratio h/H as a function of the
diameter ratio d/D.

BFIGURE P3.58
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From Egs.(1,(2), and(3): )

D Yag(H-h) =d*V2gh or H-p=(4)h

Thus,
B This result i ploted on the next page.
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